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Se 

ݔ +
1
ݔ

= 1 

quanto vale 

௞ݔ +
1
௞ݔ

=? 

SOLUZIONE:  

ݔ =
1 ± ݅√3

2
= ݁±௜గଷ  

1
ݔ

= ݁∓௜
గ
ଷ  

௞±ݔ = ݁±௜௞గଷ  

௞ݔ +
1
௞ݔ

= ݁±௜௞గଷ + ݁∓௜
௞గ
ଷ = 2 cos

ߨ݇
3

 

 

da qui 

ଶݔ + ଵ
௫మ

= 2 cos ଶగ
ଷ

= ଷݔ  1− + ଵ
௫య

= 2 cosߨ = ସݔ  2− + ଵ
௫ర

= 2 cos ସగ
ଷ

= −1 

ହݔ + ଵ
௫ఱ

= 2 cos ହగ
ଷ

= ଺ݔ  1 + ଵ
௫ల

= 2 cos ߨ2 = ଻ݔ  2 + ଵ
௫ళ

= 2 cos ଻గ
ଷ

= 1 

 

cos
ߨ݇
3

= cos ൬
ߨ݇
3

+ ൰ߨ2 = cos ൬
ߨ݇ + ߨ6

3
൰ = cos

(݇ + ߨ(6
3

 

l’espressione ha periodo 6 

௞ݔ +
1
௞ݔ

= ௞ା଺ݔ +
1

௞ା଺ݔ
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se 

ଶݔ +
1
ଶݔ

= 1 

quanto vale 

௞ݔ +
1
௞ݔ

=? 

SOLUZIONE:  

ݔ = ݁௜ఠ 

ଶݔ = ݁ଶ௜ఠ  

݁ଶ௜ఠ + ݁ିଶ௜ఠ = 1 

2 cos 2߱ =
1
2 

2߱ =
ߨ
3 

߱ =
ߨ
6 

௞ݔ = ݁௜௞
ߨ
6  

௞ݔ +
1
௞ݔ

= ݁±௜௞గ଺ + ݁∓௜
௞గ
଺ = 2 cos

ߨ݇
6

 

 

da qui 

ݔ +
1
ݔ = 2 cos

ߨ
6 = √3 

ଶݔ + ଵ
௫మ

= 2 cos ଶగ
଺

= ଷݔ  1 + ଵ
௫య

= 2 cos గ
ଶ

= ସݔ 0 + ଵ
௫ర

= 2 cos ଶగ
ଷ

= −1 

ହݔ + ଵ
௫ఱ

= 2 cos ହగ
଺

= ଺ݔ  3√− + ଵ
௫ల

= 2 cosߨ = ଻ݔ 0 + ଵ
௫ళ

= 2 cos ଻గ
଺

= −√3 

଼ݔ + ଵ
௫ఴ

= 2 cos ସగ
ଷ

= ଽݔ  1− + ଵ
௫వ

= 2 cos ଷగ
ଶ

= ଵ଴ݔ 0 + ଵ
௫భబ

= 2 cos ହగ
ଷ

= 1 
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ଵଵݔ + ଵ
௫భభ

= 2 cos ଵଵగ
଺

= ଵଶݔ  3√ + ଵ
௫భమ

= 2 cos ߨ2 = ଵଷݔ 2 + ଵ
௫భయ

= 2 cos గ
଺

= √3 

 

cos
ߨ݇
6

= cos ൬
ߨ݇
6

+ ൰ߨ2 = cos ൬
ߨ݇ + ߨ12

6
൰ = cos

(݇ + ߨ(12
3

 

l’espressione ha periodo 12 

௞ݔ +
1
௞ݔ

= ௞ାଵଶݔ +
1

௞ାଵଶݔ
 

 

Infine. Infine? 

se 

௤ݔ +
1
௤ݔ

= 1 

ABBIAMO:  

௤ݔ = ݁௤௜ఠ 

݁௤௜ఠ + ݁ି௤௜ఠ = 1 

cos ߱ݍ =
1
2 

߱ =
ߨ

 ݍ3

௞ݔ = ݁௜௞
ߨ

 ݍ3

௞ݔ +
1
௞ݔ

= 2 cos
ߨ݇
ݍ3

 

 


